O 0 Y AU YO Y00

DKK-002-002410 Seat No.

M. Com. (Sem. IV) (CBCS) Examination
May / June - 2015
ELE-6 : Advanced Corporate Accounting - VI
(Group - A : Accounting & Taxation) (New Course)

Faculty Code : 002
Subject Code : 002410

Time : 2% Hours] [Total Marks : 70

QA (1) el ouegHl sl d@l suld 8.

(2) olgasRus usil-il el You GradlHl o ),

1 aglasadl usl MCQ) : 20

(1) "Structure follows strategy" | iR AAlA iga
dad MY ... 4 VA O,

(A) 2w Ay
B) AAdA VsU YA
(C) AaUldl A8~
D) AaAasly viga
(2)  yslcns AAlnHl 32al drdl &7
A 2 ®B) 3
©) 4 D) 5

DKK-002-002410] 1 [ Contd...



(3) dwa+ 3 s1BelA elean ... 8.
A) su B) [su-
(C) Aau D) A~

(4) uRotol-l ehefel Auasld isadl 32dl UsRL UMl

| 97
A 2 B 3
© 4 D) 5

(5) el awdlal dedl &7

A 2 ®) 3

© 4 D) 5
(6) uidR Al IR Jeal 87

@) 4 ®B) 2

©) 6 O s B) 24 (O)
(7) wsdr dAwest-d wabs 3¢ 4 87

(A) u3dr s

B) agdy uidk Ralkid Mule

(C) u3dr 2Re

D) WidR #aldl

(8) u3dx 82Ad ........... Q0L 4d) RGN
A suHl B) SHAAG
(C) sl D) sleulss

DKK-002-002410] 2 [ Contd...



DKK-002-002410]

(9) u3dr gl RedRld ao(lsel 32al ReweHL sal 2412 87

A 2
©C) 4
(10) GT < Y& WM covveerennne...
(A) Giant Tool
(C) German Technology
(11) w2 8adl A ...l

A [RABAs

(C) qa-llcHs

® 3

O 5

(B) Group Technology

(D) Group Technique

B) MuaMs

D) dlellHs

(12) uuu el Rsdwaql 3edl v 87

A 2
© 4

A Ra
©) laa
(14) <2 uan

A) Q4R

©) &u

® 3

O 5

N

uil yrlL s AU ugl s A Al S,

B) [

D) x4y

B) M6

D) e€ldr

[ Contd...



(15) HRA A .oevenne.... 2ol 8.
A [asia B) [swalla
©) seqfasiua D) »lasia

(16) 4. A, ¥, <L AR .......oell

A) dar B) w6~
(€) A O) ¥
A7) sl srelHl 214 [ 2Rl Mikddl st ............ -l

POy ¥ Wl O,
A 0.5% B 5%
©) 15% D) 10%

(18) WAlaRel Y& R ..o,

A) 1972 B) 1980
(C) 1986 O 1982
(19) valazeicsl [Baelmi yeu ..., ool AHId A 8.
A 2 ® 3
© 4 D 5

(20) i-qi-ed »R2 AREZUAA Sl ...
A) 1991 B) 1992
(©) 1993 D) 1994

DKK-002-002410] 4 [ Contd...



A g Y-l ved 47 d-l uBal waxendl.
YAl

Y8lis AAIA 2ed Y7 d s dnedl.

uid eldldl &sll (eciel axasdl.
wYql
Uidr Al ved 947 d-dl 8q [Aqrdl dxendl.

N

(1) s su-dl A azg ‘A A ‘ofl’d Aael 2 B, ¥+ QoL

A yae 8§

[aotd v 6|
QARL 54 36,000 12,000
QL BHd 3. 5 10
[dd w3dr 3. 4 3

Raz wal 3. 30,000

12

12

13

13

08

51515l YURALAL 8qdl su-ll arg ‘el s Al duwL
sl s8] 53 6. Arg ‘AUl 7,000 sl AARL AsH O A

a-ll el Bid v AlMd wAl 2u4sd 3. 12 24 6 9.

oA WRRARML 5L bl 29 s34 sl vu-lad d sl s,

DKK-002-002410] 5 [ Contd...



(o) gu-ll-it A+l o1 Bd 3. 200 © 247 A+ v 20,000 8. 5

su<ll 92els 3. 10 R~ 3sd 8. su-dl-l Rlaz=-l alger 15%

8. dl 952l Al Ydl uidR 2Ll VA qed A8l s8] s,
YAl
4 () sll uen sull Gaule-t edidl 20,000 dl 40,000 s 8

Q22 W B A L YU sHels QAR Bud 3. 7 8.

fdstol i3l (A Hool uidr sld © ¢

M HIA ASHELS ..o 3. 2.00
uds MRl ASHELS .. 3. 1.50
uda Wl AsMELS L. 3. 0.50 + 3. 10,000 alls
ol 493 BSHELS ...l 3. 0.20 + 3. 15,000 alls
BRARL AL .o 3. 20,000
WOLR AlS L. 3. 17,000
Aedld g Als 3. 8,000

syl 238 10,000 A2 £35 3. 1 <l s1lMs Bud ¥ 814
ool 3. 12 8 - <l otell 8. Yl vl ey 14% © A
5AUAL e MRl 50% 9. agd sl AEL AU d WH S

Sl 3edl sHl dAAl U3 d wBlLdl.

N

(o) 2aMd A=y, Sudl adsid R AwREls 3.1 2UL & 249 5

d-ll ARl oo BHd 3. 20 . R+l vl 1,00,000-1 8. A:€ls
sHIR(AL 9lgeR 9% © i su-ll sl U 50% 52 Ysd . aay

A8l +ssl 3.

DKK-002-002410] 6 [ Contd...



5 s avil : (AR d &) 12
(1) vularoiasl Rl S
(2) vulazeias]l wdda dael
(3) ouxdla el Qe <. 11

(4) RRl $Rupel el

ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.

(2) Give answers of M.C.Q. in main answer book

only.

1 Multiple Choice Questions : 20

(1) "Structure follows strategy" in this way the control

structure of management follows
(A) Planning strategy
(B) Management control strategy
(C) Administrative strategy
(D) Managerial Control
(2) How many elements of Strategic Management ?
A 2 ®B) 3
©) 4 D) 5
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(3) Management as career 1is
(A) Art (B) Science
(C) Profession (D) Strategy

(4) From factors point of view, managerial control is of types ?

A 2 ®) 3
© 4 D) 5
(5) How many levels in strategy are there ?
A 2 ® 3
© 4 D) 5
(6) How many pillars of Cost Management are there ?
A 4 ®) 2
C) 6 D) Both (B) and (C)

(7) What is the primary goal of Cost Management ?
(A) Cost control
(B) Formation of minimum cost
(C) Cost Audit
(D) Cost reduction
(8) Cost reduction must be
(A) Permanent (B) Temporary
(C) Short term (D) Assumption

(9) The areas of cost reduction are classified into how many

divisions ?
@A 2 @) 3
© 4 D 5
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(10) The full form of GT is
(A) Giant Tool B)

(C) German Technology (D)

Group Technology

Group Technique

(11) Cost reduction is a process.
(A) Positive (B) Negative
(C) Comparative (D) Qualitative

(12) How many components of time series analysis are

there ?
A 2 ®B) 3
©) 4 D) 5
(13) expenses increase on the spot after crossing
certain level.
(A) Fixed (B) Unfixed
(C) Varnable (D) Semi-variable

(14) Swedish currency 1is

(A) Dollar B)
(C) Krona D)
(15) India is a ______ nation.
(A) Developed B)
(C) Underdeveloped ®)

(16) The currency of U.S.A. is
(A) Dollar B)

(C) Yan D)
DKK-002-002410] 9
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(17) The contribution of India in export earnings and

international trade is
(A 0.5% B) 5%
© 15% D) 10%
(18) Environmental protection act
A) 1972 B) 1980
(C) 1986 O 1982
(19) Environmental accounting mainly includes
A 2 ®B) 3
©) 4 D) 5
(20) The environmental audit notification act
A4) 1991 B) 1992

(C) 1993 D) 1994

2  What is management control strategy ? Explain its process. 12

OR
2  What is strategic management ? Explain its importance. 12
3  Explain the area of cost reduction in details. 13
OR
3  What is cost management ? Explain its objects in detail. 13
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4 (a A company sells products "A" and "B", the details of 8

which are as under :

Details A B

Sales units 36,000 12,000
Sales Price Rs. 5 10
Variable cost Rs. 4 3

Fixed cost Rs. 30,000

With the purpose of improving profitability, the company
stops selling product "A" and starts selling product "C".
Sales of 7000 units of product "C" is possible, its selling
price and variable cost is Rs. 12 and Rs. 6 respectively.
In both the situations, find out the profit and decide

which combination should be adopted.
(b) Market value of company share is Rs. 200 each and 5

No. of share are 20,000. Company is paying Rs. 10
dividend for each share. The growth rate of dividend is
15% then find out cost of capital of equity share. Also
find target profit.

OR
4 (a) Production capacity of the Shri Padam Co. is remain 8

between 20,000 to 40,000 units and sales price at this

capacity 1s Rs. 7 per unit.

The past figure shows the following cost :

Direct Material per unit .........ccccoooevinieiiiennnnn... Rs. 2.00
Direct wages per unit ............cccceeeeievivneeeeennnnn... Rs. 1.50
Indirect wages per unit ...... Rs. 0.50 + Rs. 10,000 annual

Lighting etc. ........oovvveeene..... Rs. 0.20 + Rs. 15,000 annual
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(b)

Depreciation annual ..............c.cooooeeiiiiienii. Rs. 20,000
Rent annual ... Rs. 8,000
SAlaTY oo, Rs. 17,000

Company has a 10,000 equity shares of Re. 1 each,
market price of equity share is Rs. 12 each. Expected
rate of capital costing is 14%, Rate of tax is 50% on

return.

Find out target profit and how much units will be sold

to achieve the target profit.

Amit Manufacturing Co. is currently paying dividend

of Re. 1 on each share and the market value of each
share0 is Rs. 20 and total no. of share are 1,00,000.
Growth rate for each share is 9% and company is paying

50% of tax on income. Then find out the target profit.

5 Write short notes : (any two)

ey
)
3)
4)

Objects of environmental accounting
Reporting of environment accounting
Indian standard - AS-11

Foreign Exchange Transactions.

12
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